{a) Real world

Subject A
Worst pain; —,
childbirth

Subject B
Worst pain: —
stubbed foe

No pain —

Pain is actually greater
for Subject A.

Mo pain —

(b} Measurement artifact

VAS
Subject A Subject B
Worst pain— Worst pain—

No pain — Mo pain—

Pain looks equal for
both subjects.

(c) Realworld
Subject A

Worst pain:—
childbirth

No pain —

Subject B
Worst pain: —
stubbed toe

No pain —

Pain is actually greater
for Subject A.

{d} Measurement ariifact

VAS

Subject A
Worst pain —

No pain

Subject B
Worst pain-

No pain -

Pain looks greater
for Subject B.



